Sch2E HAE gl &= HE)
A =2 X
£5 25/HE o[0|x|

© HEINRICH KIPP WERK GmbH & Co. KG

ks

HE &9:

QlEiA EHx= HHOR oIs &3 vt et X W

251 AFS Lt
0€ E0{ 7|A|, %
x| &2l B Lt

UM ZEE +S22 Z0{0pR cr% o2 QX2 ol8E = UE
YAlgtol 22 Bt &3 Elo| W AZRS Yok e B2 C
& D Etelg Abg ol BT

ANEElE MzE ChYEt 8- 2 AHE0| 7HsELCH

e =2 HAH0| 278 B2 AHIQI2|A AR A4 QIEA E2

M&dteE Zol E&LICH

THE:
AR T
LIAME e2/2 & &3 E A

-1 O.
=& A3l 1.4310.

AE|IQIZ|A AR HT A2

LIAF 25 1.4305.

=2 El 723l 1.4034.

f= Elo| Zdst|X| 5 & 1.4305.
F5 AX21.4310.

o oA
Moy

>
o

=]
A

I2|A AR A4:
|2 2 EF E 1.4404.
| 1.4401 =& 1.4571.

L

<

- T

o
> nl>
u

I
i
|H
om

C

4

EM OIF2:
AR HA:
LEAb 22|12, 4 &3t 2]

o= E, B3 ook, Jeln Y aEREl

x
0%

a

m
0

ek ) B

L
o

§| AH CC

= 4

rir

2SS Wz A4 RAL3020.

AEQl2|A AR I:H"._*, A1:
LEAL &2l A

III
-|u
oH
Jm
Rl
o

italila}
oy od

& E, o0 W sker L £
&3 ©, ook, 2T 2

HAIE 22 AX S| RAL7021 EE= ERHE! wh7HAH RAL3020.

www.kipp.com - info@kipp.com

&), 7h7 U 54 12 Mzol Zolet 0l &3

—

(]
QU= Al E2 AH[OIHIA Ol |G*|!

1/4



S22 WA gl &3 HEI
A Z2ix]

=— = L

E5 MY/MIE olo|x|

AE
—=

1o
rlo
>
s
ro
o
1>
re

rir

HMIAME]:
AT O|AM & K0665.

gf2 288 28 1™ ME K2146.

=M
I
1 :
’ ' SWi
N
~
~l
1
\
313
. L
w
\
-0,02
D-0,04
D1
== 2%
FEHS Ef =X M EAS EH TEE M D D1 D2 L L1L2L3 AE SW1 Fx INES; Bt
2l 27 7= 2 23 30° BN 3=

S F1 F2
o N 2N

K0338.3903 C AEl - FZE ZA3[AHRAL 7021 3 M6x0,751431,512510 3,5 8 08 45 10
K0338.3004 C AE - ast AS|M RAL7021 4 M8x1 1838515613 4 10 1 6 12
K0338.3105 C AE - 23t ZHA3|M RAL7021 5 M10x1 2143517715 5 13 1,3 5 12
K0338.3206 C AEl - A3t Z5|M RAL 7021 6 M12x1,52551,720817 6 14 1,8 6 14
K0338.3308 C AE - 23t Z43|M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
K0338.3410 C AR - 23t ZH43|A RAL 7021 10M20x1,533 74 281225 10 22 2,8 15 34
K0338.3412 C A€ - PEET] 35| RAL 7021  12M20x1,533 78 281425 12 22 28 15 39
K0338.3516 C AE - 23t H3|M RAL 7021 16 M24x2 40 96 321828 16 27 3,2 20 46
K0338.390384 C AE - a3t Al 5 Wz RAL 3020 3 M6x0,751431,512510 3,5 8 08 45 10
K0338.300484 C AEl - PEET AlSS W7 RAL 3020 4 M8x1 1838,515613 4 10 1 6 12
K0338.310584 C AE - FEET AlES S Wz RAL 3020 5 M10x1 2143517715 5 13 1,3 5 12
K0338.320684 C AR - PEE Al 5 Wz RAL 3020 6 M12x1,52551,7208 17 6 14 1,8 6 14
K0338.330884 C AEl - PEET AlE 5 Wz RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.341084 C AE - PEET AlE S Wz RAL 302010M20x1,533 74 281225 10 22 2.8 15 34
K0338.341284 C AE - PEE AlZ S Wz RAL 302012M20x1,533 78 281425 12 22 28 15 39
K0338.351684 C AEl - PEET AlS S Wz RAL 302016 M24x2 40 96 321828 16 27 3,2 20 46
K0338.03903 C Effili_la 1.4034 23t 43|M RAL 7021 3 M6x0,751431,512510 3,5 8 08 45 10
K0338.03004 C Effﬂ/?\_la 1.4034 a3t AS|M RAL7021 4 M8x1 1838515613 4 10 1 6 12
K0338.03105 C AE|Q! 1.4034 A3t H3|M RAL7021 5 M10x1 2143,517715 5 13 1,3 5 12
A AE
K0338.03206 C Effﬂi‘lsu 1.4034 PEE Z5|M RAL 7021 6 M12x1,52551,720817 6 14 1,8 6 14
—_— ==
K0338.03308 C Eff“o"la 1.4034 PEE 43| RAL 7021 8 M16x1,533 68 261023 8 19 2,3 15 35
A AE

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  2/4



S22 A Ol A &3 LHEJ s 28 =2 2|2l A 2l
A ZEF]
ES Y
FEMS E =A A& & xH SLAE AA D D1 D2 L L1L2L3 £2E SW1 Fx A& EfM
&l Bz 72 SA 23 30° Bt BE
K0338.03410 C aff“/o'\_lg 1.4034 4ast ZAS|M RAL 7021 10M20x1,533 74 281225 10 22 28 15 34
K0338.03412 C af:al:ﬂg 1.4034 a3 Z3|M RAL 7021  12M20x1,533 78 281425 12 22 28 15 39
K0338.03516 C Ef:E“E‘lsu 1.4034 33t Z3|M RAL 7021 16 M24x2 40 96 321828 16 27 3,2 20 46
K0338.0390384 C Ef:E“EJ: 1.4034 33t 35 #Z RAL 3020 3 M6x0,751431,512510 35 8 08 45 10
K0338.0300484 C Ef:EﬂE_I: 1.4034 A3t 55 WZ RAL3020 4 M8x1 1838515613 4 10 1 6 12
K0338.0310584 C Ef:EﬂE_I: 1.4034 4s 5 WZ RAL3020 5 M10x1 2143,517715 5 13 1,3 5 12
K0338.0320684 C af}l:ﬂ: 1.4034 PEE 35 WZ RAL 3020 6 M12x1,52551,7208 17 6 14 1,8 6 14
K0338.0330884 C gf:E“E‘lE: 1.4034 PEE AlE 5 w7 RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.0341084 C gf:alz.‘leu 1.4034 a3t A5 5 wZh RAL 302010M20x1,533 74 281225 10 22 2.8 15 34
K0338.0341284 C af:E“E‘l: 1.4034 33t 35 #Z RAL 302012M20x1,533 78 281425 12 22 28 15 39
K0338.0351684 C Ef:EﬂE_I: 1.4034 A3t 55 #Z RAL 302016 M24x2 40 96 321828 16 27 3.2 20 46
K0338.13903 C Ef:EﬂZﬂ: 14305 H|ES 73| RAL 7021 3 M6x0,751431,512510 35 8 08 4,5 10
K0338.13004 C Ef:EﬂI"_': 14305 H|AS ZAS|MRAL7021 4 M8x1 1838,515613 4 10 1 6 12
K0338.13105 C Ef:E“:O‘lE: 14305 H|Zs &M RAL7021 5 M10x1 2143,517715 5 13 13 5 12
K0338.13206 C Ef:EﬂIO_IEI 14305 H|Zs &M RAL 7021 6 M12x1,52551,720817 6 14 18 6 14
K0338.13308 C Ef:E“E‘: 14305  H|ZH%t Z3|M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
K0338.13410 C Ef:EﬂE_': 14305 H|ZS 3| RAL 7021 10M20x1,533 74 281225 10 22 2,8 15 34
K0338.13412 C Ef:Eﬂ:ﬂ: 14305 H|ES 73| RAL 7021 12M20x1,533 78 281425 12 22 28 15 39
K0338.13516 C Ef:EﬂI"_': 14305 H|AS ZAS|M RAL 7021 16 M24x2 40 96 321828 16 27 3,2 20 46
K0338.1390384 C Ef:Eﬂ:ﬂE: 1.4305  H|H3F 5 WZ RAL 3020 3 M6x0,751431,512510 35 8 08 45 10
K0338.1300484 C Ef:E“E‘lE. 14305 H|Z3 AES5WZRAL30204 M8x1 1838515613 4 10 1 6 12
K0338.1310584 C af:E“E‘l: 14305  H|ZH%t 55 WZ RAL3020 5 M10x1 2143517715 5 13 1,3 5 12
K0338.1320684 C af:E“EJ: 1.4305 H|Zst 35 #Z RAL 3020 6 M12x1,52551,7208 17 6 14 18 6 14
K0338.1330884 C Ef:EﬂE_I: 1.4305 H|Zst %5 #Z RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.1341084 C Ef:EﬂZﬂ: 1.4305 H|Zs 5 ¥Z RAL 302010M20x1,533 74 281225 10 22 28 15 34
K0338.1341284 C Ef:EﬂIO_I: 1.4305  H|E3F 35 WZ RAL 302012M20x1,533 78 281425 12 22 2,8 15 39
K0338.1351684 C Ef:E"E“'E: 14305 H|Z@E AES ®Z RAL 302016 M24x2 40 96 321828 16 27 3,2 20 46
K0338.63903 C afEEJEEI 1.4404 IEl{%Ii As|M RAL 7021 3 M6x0,751431,512510 3,5 8 08 3 6,5
K0338.63004 C affli_la 1.4404 I—El{%l|§ 3| RAL7021 4 M8x1 1838515613 4 10 1 7 15,5
K0338.63105 C aﬁ'ﬁ'; 1.4404 LE%E 3| RAL7021 5 M10x1 2143,517715 5 13 1,3 4 12,5
K0338.63206 C 2H|Ql 14404 UZAE 73| RAL 7021 6 M12x1,52551,720817 6 14 1,8 7 14,5
gla A8 glolE
K0338.63308 C afﬁlgg 1.4404 Lal{%é Z3|M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  3/4



SctAE B Ol &g HEY s 28 =2 2 |21~ 2
CilA =2 X
E=o0 1
FE2Hs E =AM E P EH THEE M4 D D1 D2 L L1L2L3 AE SW1 Fx AR By
o Bz 72 SA Esa 30° E;;g %FEI
OoF oF
K0338.63410 C Al 14404 LUZAZ ZHS[M RAL7021 10M20x1,533 74 281225 10 22 2,8 ﬂ1.5N 3.0N
tla A& diolE
K0338.63412 C affli_lg 1.4404 LEIJ%E Z3|M RAL 7021 12M20x1,533 78 281425 12 22 2,8 15 39
K0338.63516 C Eﬁ\Eﬂi_lEl 1.4404 Lal{%lé Z3|M RAL 7021 16 M24x2 40 96 321828 16 27 32 20 40
K0338.6390384 C Ef:E“E'l: 1.4404 IE% é AlE5 w7 RAL 3020 3 M6x0,751431,512510 35 8 08 3 6,5
K0338.6300484 C Ef:E“EJ: 1.4404 LElﬂ%' é AlEZ S w7 RAL 3020 4 M8x1 1838515613 4 10 1 7 15,5
K0338.6310584 C Ef:E“:E': 1.4404 ﬂ%é AlZS w7 RAL 3020 5 M10x1 2143517715 5 13 1,3 4 12,5
K0338.6320684 C Ef:EﬂE_I: 1.4404 Lal{%l% AlZ S w7 RAL 3020 6 M12x1,52551,7208 17 6 14 1,8 7 14,5
K0338.6330884 C af:E“E‘lE: 1.4404 LEI{% % AlE 5 w7 RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.6341084 C Ef:EﬂE_IEI 1.4404 IE% % A5 w7 RAL 302010M20x1,533 74 281225 10 22 28 15 30
K0338.6341284 C af:a@: 1.4404 IE% é AlE 5 97 RAL 302012M20x1,533 78 281425 12 22 28 15 39
K0338.6351684 C Ef:E“EJ: 1.4404 Lal{% é AlZ 5 w7 RAL 302016 M24x2 40 96 321828 16 27 32 20 40
K0338.73903 C Ef:E*':‘”: 1.4404 étggl H3|MRAL7021 3 M6x0,751431,512510 35 8 0,8 3 6,5
K0338.73004 C Ef:E“:ﬂ: 1.4404 ﬁéﬁ HEMRAL7021 4 M8x1 1838,515613 4 10 1 7 15,5
K0338.73105 C Ef:E“E‘lE: 1.4404 xtég ZHS|M RAL7021 5 M10x1 2143,517715 5 13 1,3 4 12,5
K0338.73206 C Ef:EﬂE_IEI 1.4404 gt;;._;g Z3|M RAL 7021 6 M12x1,52551,7208 17 6 14 1,8 7 14,5
K0338.73308 C af:a@: 1.4404 ﬁ;a;gl Z3|M RAL 7021 8 M16x1,533 68 261023 8 19 23 15 35
K0338.73410 C af:E“EJ: 1.4404 ét%’éﬁi ZH3|M RAL 7021 10M20x1,533 74 281225 10 22 2,8 15 30
K0338.73412 C af:E“E‘l: 1.4404 éti—;g H3|MRAL 7021 12M20x1,533 78 281425 12 22 28 15 39
K0338.73516 C Ef}@: 1.4404 ;t;;._;gl ZH3[MRAL7021 16 M24x2 40 96 321828 16 27 32 20 40
K0338.7390384 C Ef:EﬂE_IE: 1.4404 ;t;;._;g AlZ S w7 RAL 3020 3 M6x0,751431,512510 35 8 08 3 6,5
K0338.7300484 C Ef:E“E‘lEu 1.4404 gt;;._;g AES W7 RAL 3020 4 M8x1 1838515613 4 10 1 7 15,5
K0338.7310584 C Ef:EﬂE_I: 1.4404 gtég AES W7 RAL 3020 5 M10x1 2143517715 5 13 1,3 4 12,5
K0338.7320684 C af:E“EJ: 1.4404 ét;':'_;gi AlE 5 w7 RAL 3020 6 M12x1,52551,7208 17 6 14 1,8 7 14,5
K0338.7330884 C Ef:E“EJ: 1.4404 ét;égi AlE 5 w7 RAL 3020 8 M16x1,533 68 261023 8 19 23 15 35
K0338.7341084 C Ef:E“:E': 1.4404 ét;égi AlZ 5 w7 RAL 302010M20x1,533 74 281225 10 22 28 15 30
K0338.7341284 C Ef:EﬂE_I: 1.4404 gt;;._;g AlZ S w7 RAL 302012M20x1,533 78 281425 12 22 28 15 39
K0338.7351684 C af:E“E‘lE: 1.4404 ;t;;._;g A& 5 w7 RAL 302016 M24x2 40 96 321828 16 27 32 20 40
= = T
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com  4/4



